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PART A: Vocabulary

Directions: Choose the word or phirase (1}, (2), (3), or (4} that best completes each sentence.
Then mark the corvect choice on your answer sheet.

1-  The police only believed me after an evewitness --------—— my account of the accident.
1) displaved 2) constituted 3) corroborated 4) suspected

2-  The plan is to our -—--——----- advantage; we will all benefit greatly from it.
Iy concurrent 2) mutual 3) devoted 4y involved

3-  Owur organization is committed to pursming its aims throngh peaceful -——-——-—- . We totally
reject violenee as a means of political change.
1)y means 2) inslruments 3) devices 4) gadgcts

4-  All parents reecive a booklet which ---------- the school’s aims and objectives before their
children start their first term.
1) ¢larifics 2) injects 3) conducts 4) notilics

5-  Increasing the state pension is a ---------- aim, but 1 don’t think the country can aftord it.
1) redundant 2) diverse 3) flexible 47 laudable

6-  The primary aim in sumo wrestling is to knock your --------—-- right out of the ring!
L} protagonist 2) opponent 3) referee 4) beneficiary

7-  The cost of the damage caused by the oil --—--——--- will be around S200 million.
1) spill 2) guilt 3) demerit 4} extent

8-  Most of us -————— when we hear that many children spend more time watching TV
than they spend in school. 1t’s a rather scary thought.
1) withdraw 2) retreat 3) recoil 4) regress

9-  Even though he isn’t enrolled right now, Calvin says he will go to college ----—-—-- A
1) creatively 2y delicately 3) sentimentally 4} cventually

10-  You should avoid driving during the snowstorm becausc the icy roads are ---—---—--—-,
1) supcrlicial 2) Irigid 3) perilous 4} cautious

PART B: Cloze Test

Dircctions: Read the folfowing passage and decide which cheice (1), (2), (3), or (4) best fits cach
space. Then mark the correet choiee on your answer sheet.

When it comes to visually identifying a work of art, there is no single set of values or
aesthetic traits. A Baroque painting will not necessarily (11) -----—----—- mmuch with a
conlemporary perlormance picee, but they are both considered arl.
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{12) --———-—--— th¢ scemingly indelinable nature of art, there have always existed
certain formal guidelines for its aesthetic judgment and analysis. Formalism is a concept
in art theory (13) ------------- an artwork’s artistic value is determined solely by its form. or
the way (14) -——-—-——-_ Formalism cvaluales works on a purcly visual level, (15) ——--—-
medium and compositional elements as opposed to any reference to realism, context, or
contenl.

11- 1) share 2) be sharing 3} have shared 4} be shared
12- 1) Alithough 2) Despile 3) Regardless 4y Howcever
13- 1) that 2) that in it 3}y which 4} in which

14- 1) of it made 2) made 3} how it is made 4y it is made
15- 1) arc considered 2) considers 3} considering 4} and consider

PART C: Reading Comprehension

Dircctions: Read the following thiree passages and answer the qucestions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on vour answer sheet.

PASSAGE 1:

A plug deoor 15 a door designed to seal itself by taking advantage of pressure difference
on its two sides and is typically used on aircraft with cabin pressurization. The higher
pressure on one side lorces the usually wedge-shaped door into 1ts socket, making a
good scal and preventing it [rom being opened until the pressure 1s releascd.
Conversely, a non-plug door relies on the strength of the locking mechanism to keep
the door shut. The plug door is often seen on aiwrcraft with pressurized cabins. Due to
the air pressure within the aircraft cabin being higher than that of the surrounding
atmosphere, the door seals itself closed as the aircraft climbs and the pressure
difterential increases, This prevents accidental opening of the door, In the ¢vent of a
decompression, with there no longer being a pressure diflerential, the doors may be
opened. and as such most airlines’ operating procedures require cabin crew to keep
passengers away from the doors until the aircraft has safely landed. On some aircraft
the plug door opens partially inward, and through a complex hinge design can be tilted
to fit through the fuselage opening, or the door may have locking hinged panels at the
top and bottom c¢dges that can make it gmaller than the opening, so thal it may be
swung outward. Plug doors are used on most modern airliners, particularly for the
small passenger doors. However, sinee plug deors must open inward, the design is
disadvantageous for cargo doors. Due to its large area. the cargo door on an airliner
cannot be swung inside the fuselage without taking up a considerable amount of
valuable carge space. For this rcason, these doors olien open oulward and usc a
locking mechanism with multiple pins or hatch dogs 1o prevent opening while in [light.

16- The passage points to the fact that the plug door on an aireraft --——---- A
1) uses multiple pins as “hatch dogs’ 2) have two wedge-shaped sockets
3) is not fully shut upon take off 4) can be opened by cabin crew
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17-

18-

20-

21-

It is stated in the passage that---—--—--,

1} aireraft doors have locking hinged panels at the top

2} cabin pressurization is incffective with a non-plug door

3} complex hinges are oflen tilted 1o fil the [usclage opening

4% aircrall doors remain closed in the event ol a decompression

We understand from the passage that plug doors are not employed as cargo doors on
aircratt mainly because they--——- .

1} cannot take heavy loads 2} are not quite safe

3} are LoD Cxpensive 4} 1ake up oo much space

It can be concluded from the passage that aircraft plug doors are basically-------- -

1} unsuitable for larger doors 2) work best only small aircrall

3} not proper for a large fuselage 4} excluded from low-altitude flights
The word *wedge® in the passage (underlined} is best related to the shape of a-—--———-- .
1} -triangle’ 2 ¥ square’ 3} “cylinder’ 4y ‘cube’

PASSAGE 2:

Axiomatic Product Development Lifecvele (APPDIL) is a systems engineering product
development model that covers the whole product lifecycle including early factors that
alleet the entire eyele such as development testing, inpul consirainty and gysiem
components. APDL includes [ive Cuslomer, Funclional, Physical, Process and Tesl
domains.

Customer Needs (CN} are elements that the customer seeks in a product or system.
Functional Requirements (FR) completely characterize the minimum performance to
be met by the design solution. product ete. 'R are documented in requirement
specifications (RS). Inpul Constraints (IC) are included in the [unctional domain along
with the FR. IC arc specilie (o overall design goals and arc imposcd exicrmally by CN,
product users or conditions of use, such as regulations. IC are derived from CN and
then revised based on other constraints that the product has to comply with but not
mentioned in the Customer DDomain.

‘The Design Paramciers (DP} are the clements of the design solution in the physical
domain that arc chosen to satisly the specified 'Rs. DPs can be conceptual design
solutions, subsysicms, componcnls, or component atributes, Svsiem Components (5C)
provide a calcgorical design solution in the DP, where the calegorics represent
physical parts in the Physical Domain. The SC hierarchy represents the
physical system architecture or product tree.

Process Variables (PV) identily and deseribe the controls and processes Lo produce
SC. A [unctional test consists ol a sct ol Funclional Test Cascs (FTC). FTC arc syslem
lests used 1o verily that FR are satislicd by the system. Black-box lesting is the
software analog to FTC. At the end of the system development, a functional test
verifies that the requirements of the system are met.

The passage mentions that--------,

1 DP uand SC arc componcents of CN
2) CN does not, as a principle, change
3} minimum performance 1s set by [C
43 DI* should meet the goals set for FRs
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24-

According to the passage we should use--——— 0 make sure the system meets the
neeessary Functional Requirements.
1) *DP’ and “SC” e SR g 3)"CN" and "1C” 4)"PV”

It is stated in the passage that the Functional domain-------- 1
1) includes both FR and IC

2) derives from Customer domain

3) covers almost the whole product lifecycle

4) 15 a customer-based system elements

The passage points to the fact that-----—--,

1) there are Tew design solutions in the DP

2) Black-box testing consists of FTC and FR

3) ‘product tree’ is shown in the SC hierarchy

4) §C 1dentifies and describes Process Variables

The word ‘comply’ in the passage (underlined) is ¢losest to---——--- .
1) “represent” 2) “supply”’ 3) “agree’ 4) “impose’
PASSAGE 3:

The open-design movement (ODM) involves the development of physical products.
machings and sysiems through use of publicly shared design information, This
includes the making of both Iree and open-source sollware {FOSS) as well as open-
source hardware. The process 1s generally lacilitated by the Internet and olicn
performed without monetary compensation. The goals and philosophy of the
movement are identical to that of the open-source movement (OSM), but are
implemented for the development of physical products rather than software. Open
design is a Torm ol co-creation, where the [inal product 1s designed by the users, rather
than an cxternal stakcholder such as a privale company. The open-design movement
currently unites two trends. On one hand, people apply their skills and time on projects
for the common good. perhaps where funding or commercial interest is lacking,
for developing countries or to help spread ecological or cheaper technologies. On the
other hand, open design may provide a tramework for developing advanced projeets
and icchnologies thal might be beyond the resource of any single company or couniry
and involve people who, without the copylell mechanisin, might not colluborate
otherwise, There 1s now also a third trend, where these two mcethods come iogether Lo
use high-tech open-source {e.e. 3D printing) but customized local solutions
for sustainable development. The open-desian movement is currently fairly nascent
but holds grcat potential [or the future, In some respects design and engineering are
cven more suited o open collaborative development than the increasingly common
open-source sollware projects, because with 3D modcels and photographs the concepl
can often be understood visually. Tt 1s not even necessary that the project members
speak the same languages to usefully collaborate.

All of the following about ODM are correct EXCEPT that it--—-—---- :
1) may sidcline lunding or commercial interest

2) can apply to extremely advanced projects

3) may help spread ecological technologies

4) tries to get r1id of the copyleft mechanism
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27-  The passage points to the fact that ODM-—oeoe- .
1} was developed by private companies
2} designs may not enjoy high quality
3} is not dirceled at exiernal stakcholders
4% and O5SM urc both product-oricnied
28-  Itis stated in the passage that as far as ODM is concerned----—---- ]
1} a common spoken language is unnecessary
2} evervthing can be easily understood visually
3} open-source software projects ofter little profit
4} design is In most cases equal Lo engineering

29-  The words ‘the process’ in the passage (underlined) best refers to--——-—--—— :
1} fopen-source hardware’ 2y the Internet
3} "development of physical products”  4) ‘open-design movement’
30- The word ‘nascent’ in the passage (underlined) is closest to-----—- ’
1) “expert’ 2) ‘young’ 3)useless’ 4) *old’
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